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In long-run equilibrivm, for a monopolistically compet-
itive firm, its marginal cost must equal its marginal
revenue at the mirumum point of the long-run, average
cogt curve.

In order for a pure monopolist ko earn a pure economic
profit in short-run equilibriumn, marginal revenue must
he greater than average variable cost.

. If a ¢competitive firm is in long-run equilibrivm, the

marginal reveaue line is tangent ko the short-run, aver-
age variable coat curve.

. Econamics of acale exist over all ranges of output for

which short-run, average total cost exceeds long-run av-
erage cost.

- If the incame elasticity of demand for a goad i3 positive,

the good is a nermal good.
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As one moves upward and to the left along a normally-
shaped indifference curve, the marginal rate of substi-
Lution:

(a) increases.

{b) remains the same.

(c) decreases.

(d} ircreases and then decreases

. If the marginal cost curve is above the average tolal

cost curve, the average total cost cucve must have a
slope that is: '

(&) nogative.

{b) positive

{z) constant.

(d} variable with output.

. Which of the following statement is correct?

{a) In order to maximizing profits, a firn should pro-
duce the level of output for which total eevenue is
Ereategt.

(b} In the shert-run, a competitive firm will continue
1o produce as long as wotal receip's are sufficient
to cover total fixed cost.

{c} In long-run equilibrium, a competitive firm will
produce 2t the point of minimum average tolal
oat,

{d) In the short-run, a competitive firm will close
down whenever price is leas than minimom average
total cost,

4. At the level of output in which the marginal cost and

marginal revenue curves inlersect, a pure mooopolist’s
gtraight-line demard curve passes below itz average
variable cost curve. The firm will:

(a) be able to make a pure economic rent.

{b) stay in cperaticn in the short-run, but shut down
eventually if demand conditions do not improve.

{c] increase pri;:e,
{d) shut down in the short-run.

. Tacit coordination will be mest difficult in an industry

iy which:
(a) t®o fioms have a Jarge market share and are the
same size.
{b) one firm is a dominant price leader.
{c) products are homogeneous.

{d) informatian on price, output, and profits is sectet.
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. Let iwo ducpsonists have production functions ¢: =

. Assume that an entrepreneur’s shart-run tolal cost

¢ = 10¢% + 17q + 66. Asaume the
3.

funclion is C =
putput price p

H

{a} Determine the output level at which hie maximizes
profit.

(b) Compute the sutput elasticity of cost at this out-
put level.

- Construet a short-run supply Function for an en-

trepreneur whose shart.con cost {unction (3 £ =

0.044% — 0.8 + 10g + 5

13r, — 0.2z% and ¢3 = 12z7 — 0.1z} where z;, 12 are
the izput levels emplayed by the ducpsonists, Assume
Lhat the input supply function is r = 24+ 0.1(z) + z2)
where r is the supply price of the input, and 4; and ¢;
are sald in competitive markets [or prices p; = 2 and
p2 = 3. Let 7y and n; denote the profits of the firm 1
and firm 2, respeaclively.

(2} Find the input reacticn funclion.

(b} Deterrnine the Cournct equilibrium values for
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1ich of the following will not increase the productivity of labar?
techaclogical advaoces b. worker training

c. growth of the labor force
at is the equilibrium level of income for the following macre model of #n open economy with endogengus taxes and imports

M
36 Q‘k%b_ e ?

d. better equipment

CuBa+ 9D Di=Y-T T = 10 + 33Y X=30 IM=20+.1Y G=6
Y=C+I+0+{X-IM)
115 b 374 c. 236 d. 356
z tools of fiscal policy include: (I) changing taxes and transfers; (II) changing interest rates.
[and 01 b. I not U c. llmot] d. neilber I por IO
¢n the GNP deflaor poss up, it means that
real GNP is rising b. real GNF is falling c. prices are rising d. prices are failing

the roquired reserve ratio is 20 percent, n withdrawal of $100.000 from cne bank will eventsally cause the morey supply to be

uced by

3100,000 b. 3E0.000 c. 540,000 d. 320,000
preciation is subtracted from ONP in order o find

NNF b. NI c D aC+Ii+ G

¢ most significant movement of \he aggregate supply curve resuling from increased productivity is chat it

becomes flatter b. Becomes stecper c.
rich of the following is likely to icad to a low level of investment?
optimistic expectations b. low interesl rales .
ich of the lollowing will cavse a rightward shift in the aggregate
an ipcrease in the price level b. a rise in imports

¢. & rise in exporia

shifts wpward d. shifts downward

substantial excess capacity d. rapid growth of output
demand curve?
d. a rise in GNP

* measwrs vsed by economists to gauge the standard of fiving of a pation is

-+ whoductivity k. preductivity of labor
-+illips curve is neariy horizonlal , »

,+ increase in unemployment will bring a small reduction in

c. GNP

d. GNP per capita

inflation

smal} reduction in unemployment will bring a large reduction in inflation
large increase in unemployment will bring 2 large increase in inllation
small reduction in unemployment will not change the level of inflation

period of stagfistion wiil

increase output 1o erase an inflationary gap

increase prices to crase an inflationary gap

remove an inflationary gap by decreasig prices and increasing
remove an inflationary gap by increasing prices and decreasing
he effect of inerest rates on business imvestment is that

output
output

the higher the rate of interesl, the larger the amount of investment
. the higher the rote of interesi, the smalier the amounal of investment

cconometric studies show that the rate of interest has no effect on investment

higher imterest rzles encourage invesiment during expansions and discourage investment during recessions

ich of The following events would Bot cause @ rightward shift in the aggregate supply curve?

an increase in labor productivity b.
. a decrease in the cost ol emergy d.
Inder a balanced budget pelicy, a sharp decline in GNF will cause
. a small budget surplus b.
. lax seceipts to excesd government expendifures d.
« balance of payments deficit eccurs when
the vaiue of impoerts exceeds the value of exports
. individual consumers buy more than 5 sold asbread
‘he deficit can be defined in simple lerms as
. government eaperditures - iransfers + [axes b.
. government expenditutes + defense spending - taxes d.
‘xchange rates determined by the laws of supply and demand are

equilibrivm exchange rates b.
. dirty exchange rates d.
f an economy is equilibrium experiences an aulonomous ipcrgase
. depleted causing ficms (0 cur production b
. mocumutaled cavsing (irms to expand production d.
v teriff is better than a gquota because
. it does oot distant Urade as much b.
. tariffs produce tax revenue d.
‘he crowding-owt effect of higher inlerest tates cap be avoided by
. expansignary Fiscal policy b.
. conlracling monetary policy d.

b.
d.

z decrease in the nverage wape rales
increased spending on the part of consumers

tan increase ot cxpenditure cui
no serious budget changes

the price of the domestic currency is sel too high
all of the above

government expenditures 4+ transfers + laxes

paverninent expendilures + tramsfers - lazes

called

fixed exchange rates

floating exchange rales

in the level of investment spending then inventories will be
depleted causing lirms 1o expand produclion

accumulated cavsing firms to cut production

quotas are inflexible
quolas hart domestie producers, tarilfs hurt foreign preducers

expinsionary monetary policy
decreasing Lanes

‘xpansionary Fiscal policy will be most effective at increasing GNP when

. the marginal propensity to consume is low b, investment spending is sensilive to changes in the interest rale
. the economy has a high marginal tax rale d. investment spending is inscnsitive 1D the interesi ratg
F workees always can see inflation coming, and if they demand {ull compensalion for it in advance so thal inflatian does not crode

al wages, then the ecomomy's aggregale supply curve on the price-income diagram

b
d.

. will slope upward

- will be a horizontal line comrespending to potential GNP
The main reason why natiens trade is because

. ading provides opportunities 10 earn profis b
. resources are not egually distribuled to all pations d.
if all prices inclheding wages increased al ihe same, conslant rale,
- turt the pch more than it would hort the poor k.
. hurt everyone by the same amount - d.
= 37

will slope downward
will be a wvertical line comesponding to patemtial GNP

the rale of interest is not the same in all countries

some mations like to build one thing while olhers build another
inflation would

hurt the poor more than it would hurt the rich

not hury anyane
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